Unit 6 Day 2

* Reflections across x-axis, y-axis, and y=x



Warm Up
Given ASTR write the new ordered  Write the rule for the following

pairs after transformation.
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Find the coordinates of the vertices of each figure after the given transformation.
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Write a rule to describe each transformation. ‘
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Notes — Day 2: Reflections
There are 3 basic types of reflections:

Across the x-axis. Across the y-axis.

(The line y=0.) (The line x=0.)
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Notes: Rule for reflection across the x-axis.
What do you notice about the mountain and its reflection?

What happened to the peak?
-
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Notes: Rule for reflection across the x-axis.

Each point | select is an equal distance from thé line of reflection.

k

r‘



Adam Bryant



Notes: Rule for reflection across the x-axis.
This is true for all reflections! N |

How far is vertex C from the line y=07?
Vertices A and B?

Notice none of the vertices moved left or
right at all. )
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Notes: Rule for reflection across the x-axis.
The rule for a reflection across the x-axis is (x,y) — (x, —y).



Notes — Rule for reflection across the y-axis.
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Notes
Graph the figure.

Reflect each of the following and state the new coordinates.

1a) I(-2,4) U(3,0) A(-5, -4) N(2, -5)
O O Q O

a) Reflect across th%
—0
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Notes
Graph the figure.

Reflect each of the following and state the new coordinates.

1b) J(-2,4) U(3, 0) A(-5, -4) N(2,-5) . . T |
0 0 O RN S [ ) S N E [ - -

N S R R R R
b) Reflect across the ;é»s --------------
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Notes
Reflect each of the foIIowm@ ne@

2)  across the z=azas across the y3

TR B
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Notes — You Try!
Reflect each of the following and state the new coordinates.

4) Across the y-axis. 5) Across the x-axis.
" Y.
C
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Notes
Reflect each of the following and state the new coordinates.

6) D(2, -3) !Eél, 4) N5 6) over thexgsgs.
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Notes
Reflect each of the following and state the new coordinates.

-7
7)T(-4, 2)yHB3, 1)y A(S,-3), W(-3,-4)5—Joverthe% YOU TRY!
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Notes - Rule for reflection across the line y=x.
Reflecting across the'i is_a little trickier since it is diagonal.
cls, 33

©.-1) B_(5:7)

A C“Zt‘)\ B’ C’ch/) C’ ( %,7/>



Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant


Adam Bryant



Notes
Using the rule for reflection across the line y=x, state the new coordinates.

8) S(-2 Q(-5, -4) E(2, -5)

S‘Uz“zﬁ /\}\<OL3> @[(“qc’i) E(Cﬁﬂ)ﬁ
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Notes
Graph the figure.
Transform across the line x = 2

F(3,1), A(2,—3), and N(5,—2)




Notes
Graph the figure.

Transform across the liney = 4
c(—1,4),A(2,5),and N(—3,1)




Notes

Graph the figure.
Transform across the linex =4 1 /,\ 7
P(2,5), A(—3,1), and N(2,-2) NN NS
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Notes
Graph the figure.

Transform across the liney =1
B(—2,4),U(3,—1),and M(—3,1)




